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2 Correction to Rel-6 HSUPA testcase 7.1.6.2.10
2.1  tc_7_1_6_2_10: lt_LocalTest
	Object name 
	tc_7_1_6_2_10:lt_LocalTest

	Reason for change
	A delay should be added after the de-activation of the Absolute Grant sent at Step 5 of the Prose so that the UE is provided some time to act on the de-activation of the Absolute Grant

	Summary of change
	A delay of 100ms is added

	Module
	

	Label
	WA#


Before:
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te_TimeoutT 5

+5_CanfigHS_DSCH_ToSendPDUINONeTTI(tsc_RB_DTCH_E_DCH_MAC1,2)

M RLC_TR_TestDataReq

TH I RLC_TR_TestDataReq

CMAC ? CMAC_MACes_SI_IND

+15_88_E_DCH_SendAG(
tsc_NodeB_1,
8 activateNow: NULL)

TH ? RLC_TR_MACesDATA_IND(cv_ExpectedTSN_RB25 = (tov_ExpectedTSN
_RB25 +1) MOD 64)

+5_88_E_DCH_SendAG(
tse_NodeB_1,
1,activateNiow: NULL)
[TRUE]

+5_CanfigHS_DSCH_ToSendPDUINONeTTI(tsc_RB_DTCH_E_DCH_MAC1,2)

M I RLC_TR_TestDataReq

TH I RLC_TR_TestDataReq

CMAC ? CMAC_MACes_SI_IND

CPHY | CPHY_UL_Powerhladify_REQ

CPHY?CPHY_UL_Powerhtacify_CNF
START{_WailMs(1 00)
2 TIMEQUT t_Waitis
(icv_UPH5=FALSE,
ALSE)
START{_Wait1 50
REPEAT i_CheckUPHMeas UNTIL [icv_Timeout1 50]
tev_UPHS=FALSE]
- LOOP.
ftev_UPHS=TRUE]
CPHY | CPHY_UL_Powerhladify_REQ

cas_DataReqRAB(sc_RB_DTCH_E_DCH_MAC1, c_M
AC_E_UMD_UIs(0, c_Lis1_7BitLIS(40), tsc_TestDatad
B)

cas_DataReqRAB(isc_RB_DTCH_E_DCH_MAC1, c_M
AC_E_UMD_LIs(1, ¢_Lis1_7BiLIS(40), tsc_TestDatad0
B)

©a_CMAC_WAC_es_SIIND(?, 2NT_TO_BIT(tsc_UL_
DTCH1 )

©a_RLC_TR_MACesDATA_IND (tsc_RB_DTCH_E_DC
H_MACT,?, 715¢_E_DCH_DDI_§cv_ExpectedTSN_RB
25,2,c_MACesSDU_List2(?)

cas_DataReqRAB(sc_RB_DTCH_E_DCH_MAC1, c_M
AC_E_UMD_LIs(2, c_Lis1_7BILIS(40), tsc_TestDatad0

B)

cas_DataReqRAB(sc_RB_DTCH_E_DCH_MAC1, c_M

AC_E_UMD_LIs(3, c_Lis1_7BitLIS(40), tsc_TestDatad0

B)

©a_CMAC_WAC_es_SIIND(?, 2NT_TO_BIT(tsc_UL_

DTCH1 )

ca_UL_Powerhiodity_REQ (tsc_Cell4, tse_DL_DPCHI, t
sc_UL_DPCHI, delta: 1)

£a_UL_Powerliodiiy_CNF (isc_CellA, tsc_DL_DPCH1)

ca_UL_Powerhiodity_REQ (tsc_Cell4, tse_DL_DPCHI, t
sc_UL_DPCH1. delta:0)

Step 2
step 3
@sic R5-063568 sic@

@sic R5-105033 sic@
step 4

step 5
@sic R5-063568 sic@

@sic R5-105033 sic@

Step 6

Step 7

Step8

Step9
@sic 55100554 5ic@

Step 10
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CPHY?CPHY_UL_Powerodify_CNF
+15_85_E_DCH_SendAG(
tse_NodeB_1,
8 activateNiow: NULL)
START {_WWaitus (500)
TH ? RLC_TR_MACeSDATA_IND(cv_ExpectedTSN_RB25 = (tov_Exp
ectedTEN_RB25 +1) MOD 64)

(1ev_ReceivedPDU=TRUE)
-> LOOP2

2 TIMEOUT t_Waitis
tev_ReceivedPDU=TRUE]
[tcv_ReceivedPDU=FALSE]

ca_UL_PowerModify_CNF (tsc_CellA, tsc_DL_DPCH1)

©a_RLC_TR_MACesDATA_IND (tsc_RB_DTCH_E_DC
H_MACT?, 715¢_E_DCH_DDI_5cv_ExpectedTSN_RB
251 ¢_MACesSDU_List! (7))

step 11
@sic R5-063568 sic@
@sic R5-105033 sic@
@sic 55100554 sic@
step 12

@sic 55100554 sic@

@sic 55100554 sic@
@sic 55100554 sic@
@sic 55100554 sic@
@sic 55100554 sic@

(F) @sic R55100554 sic@




After: 
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+1s_ConfigHS_DSCH_ToSendPDUINONeTTI(tsc_RB_DTCH_E_DCH_MACT,
2
TH I RLC_TR_TestDataReq

TH I RLC_TR_TestDataReq

CMAC ? CMAC_MACes_SI_IND

+15_88_E_DCH_SendAG(
tsc_NodeB_1,
8 activateNow: NULL)
T ? RLC_TR_MACesDATA_IND(tcv_ExpertedTSN_RB25 = (tov_Expected
TSN_RB25 +1) MOD 64)

+5_88_E_DCH_SendAG(

tse_NodeB_1,
1,activateNiow: NULL)

+s_RRC_Delay(100)
[TRUE]
+5_CanfigHS_DSCH_ToSendPDUINONeTTI(tsc_RB_DTCH_E_DCH_M
Ac1,2)

TH I RLC_TR_TestDataReq
M I RLC_TR_TestDataReq

CMAC ? CMAC_MACes_SI_IND
CPHY | CPHY_UL_Powerhladify_REQ
CPHY?CPHY_UL_Powerhtacify_ONF

START{_Waihis(1 00)
2 TIMEOUT t_Waith3

cas_DataReqRAB(tsc_RB_DTCH_E_DCH_MACT, c
_MAC_E_UMD_LIs(0, c_Lis1_7BHLIs(40), tsc_Test
Data408)
cas_DataReqRAB(tsc_RB_DTCH_E_DCH_MACT, c
_MAC_E_UMD_LIs(1, c_Lis1_7BHLIs(40), tsc_Test
Data408)

ca_CMAC_MAC_es_SLIND(?, 2INT_TO_BIT(tsc_
UL_DTCH1,4)

a_RLC_TR_MACeSDATA_IND (isc_RB_DTCH_E
_DCH_MAC1,?, 7 tsc_E_DCH_DDI_,ttv_Expected
TSN_RB25,2,c_MACESSDU_List2(?)

cas_DataReqRAB(tsc_RB_DTCH_E_DCH_MACT, ¢
_MAC_E_UMD_LIs(2, c_LIs1_7BHLIs(40), tsc_Test
Data408)
cas_DataReqRAB(tsc_RB_DTCH_E_DCH_MACT, c
_MAC_E_UMD_LIs(3, c_Lis1_7BHLIs(40), tsc_Test
Data408)

ca_CMAC_MAC_es_SLIND(?, 2INT_TO_BIT(tsc_
UL_DTCH1,4)

ca_UL_Powerhodify_REQ tsc_Celld,tsc_DL_DPC
HI, tsc_UL_DPCH!, delta: 1)
ca_UL_Powerhoity_CNF (isc_CellA, tsc_DL_DPC
H1)

Step 2
step 3
@sic R5-063568 sic@

@sic R5-105033 sic@
step 4

step 5
@sic R5-063568 sic@

Wa#T_1_6_2_10
@sic R5-105033 sic@

Step 6

Step 7

Step8

Step9
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(tcv_UPH5=FALSE,
tey_Timeouti 50=FALSE)

START{_Wait1 50

REPEAT i_CheckUPHMeas UNTIL [icv_Timeout1 50]
tev_UPHS=FALSE]
- LoOP

ftov_UPHS=TRUE]
CPHY | CPHY_UL_Powerhladify_REQ

CPHY?CPHY_UL_Powerhtacify_ONF

+15_88_E_DCH_SendAG(
tse_NodeB_1,
8 activateNiow: NULL)
START {_Waitis (500)
TH ? RLC_TR_MACeSDATA_IND(cv_ExpectedTSN_RB25 = tc
v_ExpectedTSN_RB25 +1) MOD 64)

(1ev_ReceivedPDU=TRUE)
- LOOP2

2 TIMEOUT t_Waitis
tev_ReceivedPDU=TRUE]
[tcv_ReceivedPDU=FALSE]

ca_UL_Powerhodiy_REQ isc_Celld,tsc_DL_DPC
HI, tsc_UL_DPCH!, delta:0)
ca_UL_Powerhioity_CNF (isc_CellA, tsc_DL_DPC
H1)

a_RLC_TR_MACeSDATA_IND (isc_RB_DTCH_E
_DCH_MACT 2, 7 tsc_E_DCH_DDI_,ttv_Expected
TSN_RB25,1 ¢_MACESSDU_List (7

@sic R55100554 sic@

Step 10

step 11
@sic R5-063568 sic@
@sic R5-105033 sic@
@sic 55100554 sic@
step 12

@sic 55100554 sic@

@sic 55100554 sic@
@sic 55100554 sic@
@sic 55100554 sic@
@sic 55100554 sic@

F) @sic R&3100554 sic@





